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BEETREE Lk

RE 160kVA(ERZR)

UPSHE! = HIVERTER-UP201i- 160k VA-420V-50Hz- =48
ANUERE HIVERTER-UP201i-420V - 50Hz* = %8
HAOEERE HIVERTER-UP201i-420V - 50Hz - = %8
EEMRK UP400-12R X 45{& (270t L)

= 160kVA (R ER)

UPSHE! = HIVERTER-UP201i- 160k VA-420V-50Hz- =48
ANUERE HIVERTER-UP201i-420V - 50Hz* = %8

H h ik #g HIVERTER-UP201i-420V *50Hz - =48
EEMRK UP400-12R X 45{& (270t L)

= 250kVA(EHZR)

UPSHE! = HIVERTER-UP201i- 250k VA- 420V -50Hz* =48
ANUERE HIVERTER-UP201i-420V - 50Hz - = %8

H O HIVERTER-UP201i-420V - 50Hz* = %8
HAOEERE HIVERTER-UP201i-420V - 50Hz* = %8
EEMRK UP700(UP400+UP300)-12R x 421& (252t JL)
= 250kVA (Pl %)

UPSHE! = HIVERTER-UP201i- 250k VA- 420V -50Hz- = 48
ANUERE HIVERTER-UP201i-420V - 50Hz* = %8
EEMRK UP700(UP400+UP300)-12R x 421& (252t JL)
= 100kVA

UPSHE! = HIVERTER-777E-100kVA-210V-50Hz- =48
ANUERE HIVERTER-777Ei-210V-50Hz- = 4R

H h o ik #g HIVERTER-UP201i-210V * 50Hz - B 48

INA XX A U8 BE(100kVA)

HIVETER-UP201i-210V-50Hz- =#H

UPSHi4EER 2 A Tr(100kVA)

HIVERTER-UP201i-210V-50Hz- = 4§

SEMBRK

UP600-12R x 211& (1261zJL)

RE 50kVA

UPSEi={ HIVERTER-UPN471E-87kVA-210V+50Hz* = %H

A HIVERTER-UPN471e+210V+50Hz - B4R

H O HIVERTER-UPN471e+210V-50Hz- Bi4H

FiERALH A HIVERTER-UPN471e-210V-50Hz - B4 48

EEMRK UP300-12R-211& (1261t JL)

AHLNEAE(50kVA) HIVERTER-UP200i-210V -50Hz* = #f
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RE 1000kVA 625kVA 500kVA
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EE 6600V 420V 420V
=R & 50Hz 50Hz 50Hz
1B 6P 4P 4p

EIETR 1000rpm 1500rpm 1500rpm
hE 0.8 0.8 0.8
Bk 87.5A 859A 688A
HEK 3+83#EK 313K
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